1. Compute the following integrals (note that some of them are indefinite

integrals and some are definite integrals).
(a) (4 pts) j(2x + 2)sec*(z? + 2z — 5)dz.
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(c) (5 pts) [, z(1 — z)"%dz.
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(d) (6 pts) [ zsec*(x)dz.
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(f) (7 pts) jf In(y/x)dz.

1. w=J3x 2. ‘.{l - _,‘_i; — AN N b
\ Ax ol AX 5 o?uotq _ c(f
; \(%5; GH = \(’C"‘Z‘&) /Zb\@tw) s j\i&(e&« W)C’l‘f*\
e a.%; % /wf}{w Jv&«fmw Cfu,
7% dn at’u -\ -
ja/’*\)cg\& = }_{_ — étz\& .
< | ‘ 2
| z w = Mdu= W
“ ) Gl) o - ﬁ”;“)%A f>“ 4

(u

-7 W) = ;éh u \;(_ — A

jﬁ%) glo) - Ly u?

- i j"\ baa < («(M\»\) \,( - % Q\
LI

J%’Ma% dx = (f/m r)@i) »—Lm)?‘ ) (fn =) % - 7<)
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(h) (7 pts) [ fg%dx (Hint: Multiply the numerator and de-
|
‘ nominator by e*)
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2. Consider the region bounded by the graphs of y = 223, y =0, z = 0
and & = 1.

b
(a) (9 pts) Compute the AREA of this region. ’
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(b) (6 pts) Set up (but DO NOT EVALUATE) the integral to compute
the volume of the solid obtained by revolving this region around the

I-axis. \
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3. (10 pts) Approximate the following integral using the sum of areas of
rectangles after dividing the interval of interest into smaller subintervals.
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4. (7 pts) Sct up (but DO NOT EVALUATE) the definite integral to com-
pute the area of the region bounded by the graphs of y = z, y = % and

5. (8 pts) Consider the region bounded by the graphs of y = 2%, y = 2 — g,
and y = 0. Set up (but DO NOT EVALUATE) the integral(s) to compute
the volume of the solid obtained by revolving this region about the z axis.




